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Bippetions : fn the folisuing flee items, cach sontenice faso dlank space and ."'fJ-:-r_r TPHECHE iy
i o e ferepi Seleet Bhe mosl gppropriae Gption far the hlonk spoee gnd fdivabe your-resp :

Ananoer Skt gecordingly.

1. 1 walking past this particalar shap for tho pagt thres vears
(@l was (k) have iel  huve boen idl hadbeen

_'g:i .&Jlm-m.n b ennnected with im
- explRnation.

il iz dotbtod (b} isadaube

medinte taises bt ik whethér thov provide the whole

lel  maybeadoubt  (d) may b doubited

is bettar than two in the bush.

{ 1b}. th hond (e} handy {#f inane's hands
Vi ample proof that human ambitios 1o limits,
) Cheips () crogses il marks

several perspectives on a perind but thess divergont viewsmust _ into

el it (e} be balanesd

hsnge carefully and ansioer the five guistions thae fallow by selecting
7 pactage and opinion of the author only.

ources Ses being depleted at'a faster rate thin evir befneal We have o
s ufﬂmﬁ‘i‘u' _H-a_whu'*re_tmwards & more sudtainable future. To EIVE us &n
the General Assembly of the United Nations has ansounced its
“Goals deseribe the framework of pur common global
key poaition. 3
; fﬁﬂlﬂ:hﬁn In u traditional sense they help ta
& Job market with both infrinsicoand instrumental
inable development 7 Its purpose is transformative
& oworldview, make sne question unsuatainability’, and
- a5-and bg-mmmndated ante s global sysfem.
integrating the ‘future’ s a specific dimension
sustainable future must play & central role in
f merely goen As global eapitulism, has an
live'in & highly interconnested and interdependent
y : ! %aﬁﬂﬁﬂ in naEtiee and regquire tosperation
we ¢ xl_,h__hk:ﬂ::rdlﬂgﬁf.ﬁ;.g.' "-'“5-'.-!:?" ?ﬁfﬂmmm we have to see ourselves as ‘itisens’ of
p, TPOTAnD of glaby) .-.11:.;;:,-,::'*“? notign of ﬁ““ﬂa\‘ﬁp.%m; in ﬂm p_msr-:nt century. In fact global
B . — % Thers iy an increasing recopnition of the
F . {2 Dy




ations ‘Agenda 2030’ ?

7.  What is the roje of o
duﬂatmn
(@ Educati 1 sustainable devel
ucation will dwalmp 1 SECNBI
mult
over the world iple Competencies for sy stainable davdl
ﬂpmt-nt ATN0n % 5
(b)  Education wi] provid Rt
de bﬂﬂkﬂ to read On sustainahle d
(¢)  Edueation wil] ; € development
Ncrease the globa] :
@ Ed global capital
ucation will :
reduce interdependence of the people
8. “We live in a hij :
ghl}r interconnected and i :
passage 7 d interdependent world’. What does this phrase mean in the
(a)) We are now more connected and dependent upon each other for our survival
(b) = The means of transport have become faster
(¢) We have become dependent on other countries
(dyy We are facing challenges from globalization
9. ‘The world's life-supporting resources are being depleted at a faster rate than ever before!’ What does
thjs-phrase mean in the passage ?
(a) Today we are facing an acute shortage of food products
(b) Medical health systems are deteriorating at a fast pace
i L dpanticall
(¢) The natural resources necessary to sustain life are redueing drastically
. . chnology
(d) Human life is becoming more dependent on the support of techs
. " ~1trze ;:;h' . h{?[.:ﬂl]::n‘E:
10 increasing recognition of the importance of global citizenship
O ThErE is an n H ]
and live in different parts of the % orld ‘
le want to travel more - of the 21" century
e 1] over the world to face the challenges of the &
: : rom ail ov
{h} It W]!l !.lﬂltrﬂ PEﬂple f ’ Al .[:{]-Lll'].tri[.s
: hat there is a future 10 foreign . aral disasters
(c) People believe t h other to save themselves from nasiite
4 s c 0 fal
- erate with ea
. cople will coOP
d) EE (3-D)
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e 2 h{? irst {1 ;
Directions - in fo el [ ix sentences of @ Passage. 1 fir :
Z A dlow Fe¥g ﬁuf ifems, gach tlem 2OnStsls f 8 X if t 5 '; : .
& 7 L ..! = X heot i as Si and 86, 1 he four se tences ‘FI bﬂtw;f? S.'. 1 .and_ Sﬁ i s
seriteniees are given at the LI RLng Q 7 and S. You are equi d to 1t} - IE|n‘.:r I
e 2 have ﬁﬁ'ujﬂ-"ﬂbfﬂif up and labelled as P, o, .-“-r ; re.r : -’: n € proper 8 4 S
iees and i r rdi on the Answer Shee ]{E S
f! % f i # = e ma k}’ﬂii response acco d”lg Y

kill and judgment.
. ; : rly done, demands = 3 ‘
e SS; ; ;je uliugmal fe e b .Whﬁ:;l prﬂtpj bilieve that a field geologist should gather only Fﬂf-’ts’,t
¢ Nothing is more naive than

he

; ; s t a later date.

interpretation of which is to be made a : : . ;

P: While the field work progresses he should conceive as many interpretations as are mnﬁlﬂtent (
with the known facts.

Q: As the field work progresses and the larger geological picture begins to unfold, eXperience ay 15.
Judgment are essential if the geologist is to evaluate properly the vast number Of fag,
gathered from thousands of outerops. i

R : Such mapping requires keen observation and a knowledge of what data are significant
S: Above all, the field geologist must use the method of

“working multiple hypotheses” t4 dedug
the geological structure.
(a) SRQP (b)" RQSP (¢) PSQR (d) SRPQ
12. S1: Under the colonial regime, basic infrastructure such as railways, ports, water transport, posts
~ and telegraphs did develop.
Sﬁ Nﬂturauy, therefore, these areas remained inaccessible to the people. s

H#’ lere always remained an acute shortage of all-weather roads to reach out to the rural areas l’aj”
d“l‘msrtﬁemmyseasu . e
Q: Roads constructed in India prior to the advent of British rule were not fit for modem resp

R : However, the real motive behind this development was not necessarily to provide basic 16
amenities to the people but to subserve v

| arious colonial interests.
S: The roads that were built primarily served the purposes of mobilizing the army within India
and drawi g out raw materials from the countryside to the nearest railway station. 17.
(a) SPQR (b) PQSR (¢) QPRS (d) RQSP
13. s1: Cﬂntemporary hlstary 1S Decessary, but it is at best g tentative record
S6: Some portentous events can be seen to be so from the moment of their occurrence, like the
o discovery of the New World: others of comparable momentousness are hidden in obscurity. 18.
Q. 'Irth& relevance of the issue of Proportion is significant
¢ It posse
knowle da;eeif :;ﬁi’f‘?* & massive supply of public record but it necessarily lacks the inner
ci ¥ . - F i 3 g el 1 2
hreak-thmughs. e of planners Proposals, of scientists’ discoveries, of technicians 19
R: 1t also lacks pers
- Pective g
S: Itis ‘mpossible, over je :‘3: i, X Sénse of proportion
Various events, €W years of anEﬁrati i s of 20.
0mn, to estimate accurately the significance
BNYR-U.GAT © Qsgrp

(d) PRSQ 3NY
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14.

15.

19,

20,
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Q
R: Th
5 ¥ need to be ree

(a) PQSR &

SP
s (e} QSRP

S1: Thf:‘ history of English lite
S6: This is the real dan

o
5}
©
&
=
e =
o
3.
&
B
2
7
=3
g
2

R : Scholars often iak
3 specialize i - _ :
“€¢ 1n periods such as Medieval, Renaissance, Romantic, Vietorian, and

Modern literature.
S: Failure to detect these di AW
S €se discontinuities often produce a false sense of uniformity and consensus
(a) PQRS (b) RQPS (¢) PSQR @ RSPQ

wctmns : In the following five items, each item has a sentence with three underlined Rarts labilled: as
@), (b), and (). Read each sentence and identify any error in any underlined part, and indicate your
nse on the Answer Sheet against the corresponding letter, i.e. (a) (b) or (c). If you find no error, your

sponse should be indicated as (d).

Ramesh liked his friend’s music player to his own. No error

(a) (b) (e) (d)

ttee is not expected

Ab)

Given the mmplexufthe problem the commi

(a)
to arrive at a decision any time soon. No error
T (c) (d)
i Lake. No error
n a visit to Srinagar circumnavigated around the Dal Lake -
The group of students on z .
(a)
i i . No error
artest of the two children in the room .
Jitender was the sm = -
error

ber of the group- _I:I_E..—r-—-

{?)) i gigning up W (d)
if 1 would be Mﬁn’"‘ (c)
He asked me " ¥ — )

(a) (5-D)
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21.

a]'ld COx = Rﬂni N Cony
qﬁ Itlnue{l thu r ':—'hﬂ nﬂ.m 'IDElllll]n U.r 2
1894 9 ni's cg Baingt ¢ ittur ich of ke
41 4pture b he Brit; Correct 2 e follow;
¥ the itigh CL i wing  state
(a) : Britigh 1. U ements are
Rayanng el “nder  the ©
I::h} T'l l'.l.iﬁl.'[‘i{l_‘;# "-'r'.ﬂ L"r_“'""‘il“.li Svater b
Pu Garg police jup n,! divided 'm’L[- =, oo
(¢) J : > Junsdictions e y thanas or
agbandhy 2 square, 50~ 30 miles
. Each
(d) D : ach of them
ukaribala Devi officer of Rﬂv‘-ﬁ'as placed under an
: ; ernme i
92, The First Ind: - flf_m:mmatima [}rr&“ﬂ;{“t, under the
1881. deal ﬂ.cll.an Factories A 2 Ihe daroga system ; :
» Aealt primarily with %, passed in TR Sl
(a) Women 1 | 4 The daroga w
n ahﬂur 2 B Was nomin
(b) o district magistr ated by the
lelng cﬂnd- . 5{"!-’- =l ate.
itions of facto lect the correct an _
(c) : ry worke below - swer using the ¢ A
¢)  Child labour =5 = e code given
(a) 1
(d) Texti and 2 only
ile workers (b) 2. 3and4
. (
23, Where was Azad Hind Fauj ¢ 1,3and4
( + auj (INA) formed ? (d) 1,2and4
. Model Standi
(b) Tﬂk}"ﬂ- G anding Orders formed under the
ndustrial Employment (Standing Orders
(¢) . Berlin Act, 1946 shall B
: | o not apply to an establishment
(d) Rangoon 1 respect of which the Appropriate
Government is that of the State of :
24, In 1927, Lord Birkenhead, Secretary of State (8™ Madhya Eracest
. - "y - L0
for India, EFPDIIltEd a Committee of three ()" Grgarat
members to enquire into the relationship cly Rerds
between the Indian States and the British (d) West Bengal
Government and to make suggestions for | 27. An ‘out-worker’ is expressly excluded from the
more satisfactory adjustment of the existing definition of «rorkman’ under which one of the
economic relations between the Indian States following legislations 7
and British India. Who among the following (a) The Factories Act 1948
- - # 1 -1 ."'JI. i 19:1
was not a member of the Committee ? () The Plantations Labour A€ *_
(e) The Contract Labour (Regulation and
(a) Harcourt Butler Abolition) Act, 1970
[h} ﬁ.J+ Wi{sﬂ_n {d} "'E"hﬂ ]n!_ur.ﬁtut“ :lr-‘l.'i.g]":_'lﬂt. 'Ilrll,rﬁ]'i"-.“'l:_'ll:
o : ? i ]{'}I‘I,'_["I_'l,i_"'["l.t il
(Regulation of  Empio]
e) W.S. Hﬂldswarth {juﬂdn_iuns of gervice) Act, 1979
d) S.C. Peel
(7-D)
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Refifa & & i, werar-aart e 1 T
ST B Gt et st famd 1824 A
S g’ Tt @ e R S ¥ AR
mﬂﬁﬂaﬁmmmﬁuﬂi?
(a) Ty

(b) &g Ry

(¢) Py

(d) gliamen 24

1881 % wife wom et searen srfyfrm
Eﬁﬂﬁ:%ﬁﬁ?#ﬁ‘ﬂﬁm?

(a) Higem om

(b) PRGN HTRY 61 farfe zyme
() 9T 3m

@) FTST FHT

21.

22‘

23. _ﬂmﬁam{mﬂiﬁﬁaﬁaﬂ ?
(2) fommge o

fararfora & | M’—?ﬂ
A A B TR arhy 3 o
qa;amﬁafﬁaﬂﬁﬁaanﬁq

ZRIIT SOl FETE #1819
ot |

A
N
L

g
i =l
ﬁﬁqwﬁmmwaﬁaﬁ% ‘
(a) el 1 AR 2 it
(b) 2,334
() 1,337 4

@_;./ 1,2 3 4

frenfiss Feiem (zomft AT Ay . :
ﬁagi%aw%mﬂqﬁmmﬁm
T T 7 2 E o |
(a) HeF w5y

b) TR

(c)

3.

4.

26.




EE. thiﬂ‘h ﬂ'[‘.E [If'
the f ]
shall not he S ollowing nature
Appropriate

| of work | 31,
N into account while the

Gove rament considers

Proce 1
S8, Operation op other work is

incidental ¢,
OT neces
iﬂ&ustr}r ssary for the
(b)  The work is of 4 permanent nature 32.

(¢) The work is done ordinarily
regular workmen

(d) The work is of intermittent nature

through

29. Which of the statements relating to the
Grievance Redressal Committee under the
Industrial Disputes Act, 1947 is not correct ?
(a) It shall consist of equal number of

members from among employer and | 33.
workmen.

(b) It shall be constituted in an industrial
establishment employing twenty or
more workmen.

(¢) The Chairperson of the Committee shall

be nominated by the Appropriate 24.

(Government.
(d) The total members of the Com
shall not be more than six.

mittee

of the Factories Act,

rovisions
30. Under the p stitutﬂd

1948, a Safety Committee is to be con

in a factory where :

(a) 1000 or more worke
S gubstances

rs are employ ed

are USEC]. or

(b) Hazardou
handlEd

g utiliﬂed
employ ed

(¢) Heavy machinery !

() 500 or more (8-P!
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The eight-digit number 789459xy is divisible
by 88, where x and y are digits. What are the
possible values of x and y?

{ﬂ_] =] -.=2

If % is the smallest natural number that is

divisible by both 24 and o0, whereas v is the

largest natural number that divides both 36
and 100, then what is the value of x — y 7

(a) 116

(b) 124
{c) 128
(d) 132

100
What is the digit in the unit place of 2 2
(a) 2

(b) 4
(c) 8
(d) 8

A runner completed a 40 km race in 3 hours.

She changed her speed after completing each

of the distance such that the
the first,

er, is given

quarter
proportion of the speeds in
second, third and the fourth quart

ively. In how O
. 3 : 4 : 5 respectiv ely.
S complete the

wch time
then (approximately) did she
last quarter of the race ?

(a) 32 minutes

(b) 31 minutes

(c) 29 minutes

(d) 28 minutes




26. 3% w0 (fafrm ot geare) futaA, 1970
¥ i, wafs ggfeq @ e @ ¥
3T 20 F fdiem F gfafig F0 @1 fEET
weft 2, Preffan & @ foa w5 5 w6 B

QI 4 FgF @y sme 2

(a) THERU, YOO A1 9 FHHE, IEM b

fere snsfies 2 a1 sravas 2
(b) W Tt wepfa @ B
(© #FH gm= AR w fufia wdERd ga
feram wrar 2

(d) e s gy w2

29. 3eifrs faame sfafim, 1947 F e,
ﬁﬁ?raﬁuﬁﬁhwmﬁﬁ’fﬁﬁéﬁﬁﬁmmﬁ
HYT HEl FFF B 2
(@) ¥& ek 3t Fenl & suer gear §

ol § fyer ot 59 |

(b) & UG Feifis T § frgd dtg a7
3o FAewr Frifom €, nfsa anft |

(c) waﬁﬁrmmm&qaﬁamm
qHfAfes frar s |

(b)
(c)
(d)

e

. T

(a)

/Lba/

(c)
(d)

(d) 39 &l & wge i 59 gen o i@r

30. Emmeqﬁ‘:ﬁm nga%mﬁﬁ%aﬁﬂq

S 20437 (4\:(5 8 | 99 3 fFm
; 10003 s o i & Emf“““: ﬁas%axfﬁnawsmﬂﬁ’
mﬁﬁﬁ%ﬁ?ﬁﬁaﬁwﬁrﬁm (a) ézﬁqz g’r”ﬁ; 16 A
(©) .
o e G
BNYR- % |
YR-U-GAT @) 28 fie /2
By qu:gbmf—ﬁ 1{,
VLo [n — 22
1 ";5 { ey j{}

124
128
132

2
4 I,
e )

U Yrfeehr 3 40 fhaamier it @ 3 R i 7
‘fﬁlmﬁaﬁ%amamaﬁww
STl =1t afads e, T wew B
WS, W, Het ik Y ed o # 7w

32. R x wwmiﬁmmaﬂ
faursa 2, Wﬁ?}'w““‘{ﬁa@%
3R 100 ZHT I FAING et 3, o *
o T8 ?

f—aﬁ/ 116

-

=
!yﬂlm %m%wﬁaﬁqmm%v

{,Lq)‘ #ﬂ_hﬂﬂ -/

Sl x Ay FH & | x 3 y ¥ 5 My
q? %%i
! 28
(a) 1{:],}?:2 e D%g&ﬁf‘t_
{ h,. -

b)) x=2 yv=2 9%(‘{&%

. 1
(e x%x=3 y=6 - SE AR,
(dy x=4,y=4 — _3,5& %

%

« "Whig

shall

Appr
Proh;
an g
(Reg

(a)

)
{c)

(d)

29. Wi
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(a

(b

(e
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35- Ir Lh-E]"E! are Enuugh
C

e 01ns
T 2and = 5 thenss [-:H of denomination 1
ay T 10 ? OW many w: 38.  Cong;
(a) 8 Dhle s e _lradont
ez | ]]:‘:I‘tigu[.:lr:"__l' e e
(b) 9 — i, S| Units | Rate perl
(E} 1[] l.‘.n“ﬂ![':!,' 1 | .inl.'c_-n-t_ul-.ijr i_“ . .I _E':_“_ '!= l!ﬂ_‘i_t .i--f!":l II
(d) 11 _‘i;l;u__g_ _h.;-:'-l’_d_ i __‘| ] |I 7 |I
_}_____' {E_— -l—.&]rchﬂﬂ-ﬂﬂ 1_1_11'}('}_1. Ty I1
: canuary 25| Purchases == 8 |
6. Which of th : Tomaieo e —— 1300 | g
; e following s included ; Janary 6 [ Tasued for sale | 100 ||
Cost of Iﬂ‘-’&nm g : uded m the (L anuary 0y | Issued for H"']I—L-Jr--— — = |
Standard ty" according to Accounti Which one of the follc e ] 200 | - |
. n 3 T T
2 (Inventory Valuation) - ing ot % zziufzﬂml-'r;qg is the valoe of
(a) Admini . = - ; ! Ty o1 under perpet
ministrative overheads ehat inventory system using Fir%t.-ln.p}:'rm ual
contribute to bringing the i at do not (FIFO) method ? ' irst-Out
: e Inventorie i
their present location and condition s to ':; T 6,700
| T 8700
(b) Stc;age costs which are necessary in the (&) % 10700
production : ’
process prior to a further (d) % 12,000

production stage

(¢) Selling and distribution costs 39.
(d) Duties and taxes paid on purchases,
SUhS'EquEﬂtly IEEﬂ'VE!'B,hlE h}r the
enterprise from the Tax Authorities

7. Following is the trial balance of a firm as on
31.03.2022 :
(Trade receivables = 250,000
| Hﬂﬁﬁiuﬂ.fur discount = 14,000
to debtors
Discount to debtors 1% 4,000
Additional discount allowed to debtors during
the year 18 Z 20,000. The firm has a policy of
maintaining 2 provision for chsceynt to
debtors equal to 10% of the Trade Recewabieﬁs
balances. Total amount t0 be charged t0 5;‘;;

the year © 40.

and Loss Accn}mt (for o  revision
31.03.2022) for discount allowe
for discount created will be:
(a) T 25,{){]{]
b T 13,000
(c) = 9000
@ T 33,000 {11;—[1}

BNYR-U-GAT

Following is the information relating to a club
for the year ending 31.03.2022

Subscription outstanding as on ¥ 16,000
31.03.2021
Subscription outstanding as on Z 18,000
31.03.2022

Subseription received in advance
as on 31.03.2021
Subscription received in advance
as on 31.03.2022

There are 70 members each paying an annual
> 1,000. Total subscription

subseription of
received during the year
(a) ¥ 67,000
(b) ¥ 71,000
(e} = 69,000
(@ T 177,000

2021 — 22 will be :

g to be 1

Reporting on fraud 1
[hwermtwn[ when

auditor to the (Central

gums involved in the fraud :
(a) exceed ¥ 20 lakh
(b) pxceed T 50 lakh
(e) exceed T 75 lakh

are T 1 crore or above

(d)

£ 12,000

¥ 11,000

nade by an

the
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35. ﬁ'ﬁ?l,?ﬂ&ﬂt?ﬁﬂﬁ;ﬂwwﬁ _E‘frﬁlx
&, @ # =aftp ¢ 10 H1 YA S =1 S
oz T Tehar & 9 == 9 5 g ) 35. Ifth
(a) 8 AT s s | h\ T 2
b) 9 o 1,2 & g""‘w = f ;’T mﬁ_‘“‘ﬁ«-aﬁh ﬂkux‘xi pay
(c) 10 & @;?;/z i B e 11{]0 ! (a)
@ 11 e | 25 FEl g;q ﬁmm (b)
36. FAEEH HrE.. (wrerget  gea-fufor) % G —EL iy MT::;[;.\J\"jl )
: £ 9 Faadt lﬁﬂ%ﬁ’m{ﬁﬁﬁmxn (d)
IR Fofafgs § @ wa Sege ‘ T e L2
T T wiifirer & o RETIISd 3 § B O, %ﬁ%\ 36. Wh
(@) YImEiE 3yfrepy, a1 Fhem AregEh fF;%T.WWW@ \*" ‘Cos
B T rafefy iz § a3 16 i) AT Sy N s
ghar 2 FIHA R ? 15 Ry (a)
B) MR @ St 3 o gm0 @ 2 6,700 L KR
ST =0T 7 qre) ATV 2 (b) ¥ 8,700 e
© R ik e =l I ¥ 10,700 v S )
@ 9 T 1 o s o SO (d) = 12,000 Tﬁ?ﬁ
Hﬁwmwmﬁwﬁﬁﬁaﬂ?ﬁmg 39. 3103.2022ﬁm3ﬁa@aﬁ% . %
T R HAT G g s &
87. 919 @ vfram #3103 2022 =t Fefeyfy = R
I e R oy 3 31.03.2021 St FHRYT vy > b
[ﬂiﬂnm _ 1 350060] = 31.03.2022 I Ty = Tl 87, g
TR F oW 5 fera | 31.03.2021 %1 1 g HqT T 12,00 31.
yﬁm /{F 14.0 31 {]3.2[]22 Eﬂ s aﬁ'q' a'a]- ¥ . : V=
e 4,000 _ 11,000 _'IE
T 7 gy F4000 ] e A ISR T 1000 Ty [
e 3 B et . 2B G o o
¥ 20,000 2 | yfas3e #i Aify aqmﬁ = agag: (a) & 67,000 o Q\G L | Di
IR AT ST S 31 105 7 P T Wy ey
e 'ﬁqmﬁmﬁ@@'{ &+ (e) =g s -6{\ theﬁ
9T & foro fipa 9,000 \ .
Y % %TQ iy e mai
= ST SR B Sy T 2 @ % 77.000 ' debt
43 oy e 1032022 ) g & o
) Rt ) 40, %mam-qﬁﬁmmm\{miﬂﬂ and
(@ % 25000 g“_;':ﬁ TR wfafeg 21 W, g FER F ?lﬂi
(b) = 13,000 | ST Brar 20 or d
© %9000 ::J} A :::
T 50
o 7598 § aifires
"RU.Gar @ 2 13 o
I 359 feres
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41. A train of le
Cross a Tgth 400 m takeg 15 08 } j}'{a 3 |f (Ta
rai 3
ain of length 25 Seconds t, | 44. A School R
60 km Per hoyy f 0 m tl‘&v@“ing ik playy '-'-"'iht-: ::'!i]ks udents and every student
fom the ¢ g niamk o' Sricket on foothall or both. The
PRosite  d: - mber of o r both. The
along a Parallg) track. T e ﬂlrﬂ“m“ the “lm:m::1:1:-‘:2&3,1:&“&“? ericket is twice
the longer train_; '8 the speeq of Also, the number of st who play foothall.
» in km per hoyr 9 ericket is three 1 udents who play only
(a) 108 \M 0 ' who play mes the number of students
Play  onl footh
¥ 0 studenis wh y football. The number of
b)) 102 % L% ( I-lmrefur;-; 0 play both cricket and football s,
: . M 98 e s
© 98 k- xS e i
Y : =
(d) 96 LoD (e 25
Bwo_ (dy 20
ob )
42. There is a water tank j = ok
nk in the form of a

rectangular parallelepiped of height 11 m
and a square base of side 2 m. If a full tank of

water is drained out completely in a long pipe

fa) 2km

of circular cross-sectional area of radius 1 cm, (b) 3km
what should be the minimum length of the () 4km
(d) 5km

pipe, in km, to hold the entire water in it 2
(Take = = 22/7)

A man walks in a certain direction for 5 km
and then walks in the south direction for
4 km. If he ends up in the east direction with
respect to the starting position, how far is he
from the starting position ?

The beneficiaries under the Integrated Child

Development Services (ICDS) Scheme are
(a) 12 T.#bﬂfi'!‘l {  children in the age group of :
-~ : l ..:65 o\ 129 (a) 0-—6years
(b 13 tjf}/, ’]2&* (b) 0-3years
(c0 14 Mﬂf& & '%' (¢) 3-6 years
o Y /’{6/ (d) 6~ 15 years
{d 15 . ]
i 0 for | 47 Which of th; _tb‘c;llnwlngeci-:e;t&"’tﬂ“th about
s 1 y nﬂ and Eight }}EHCL 3 ﬂr .rrrL“Ik fﬂrmin- 18 are cnrr s ;
ﬁﬁ? "&wnhuﬁ i :e same and price of {  Growing vegetables mleid ailq;nﬂ;
=t . . " 4 . oI
&g . Price of each pen 15 entres to meet the daily del ;
- ¥ 200 : uld have bought % le is known as Truck Farming.
each pan(:il i§ same. If he co ; peopie St ithe distance 8 truck
3 o ol R 15 0 game 2 It 18 gu,ygf i : 7k tha farm
five pens and twenty-four penci % can cover overnight between the
s ame amount, then what 1 and the market. ‘ o given
Hpes Hote thiey 4 answer using the code
h in rupees 7 Select the correc
the price of eac pen below :
(a) ¥ 16 (a) 1lonly
2 b 2 only
(b) T (¢) Bothl and 2 :
. 1 nor =
(d) Neither
(¢c) T 14
[d) T 13 { 13- D ]
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i 7
108
102
98

96

(a)
(h)
{c)

(d)

42. GHFIOTH FHREIEAS & HHR #1, 11 HIA
FaE R 2 Hieww yon ¥ @ aun awefl,
it 1 St | 9f2 7w Zh gt e & 9 @

e
o

Wﬁwﬁiﬂﬂﬁmﬁﬁﬁaﬂl ;

mﬁlﬁszg,a‘ﬂmfﬁ’i@%%h
grert are e 1 gy
fererfefal A1 @A H g
frpe @od arel  ferenfu
Feard Wed arel forenfa 5
2 | saieY, Bhhe S geap,

3

o i 1

WS
Wnﬂa%i
3y 42
'

Al

3R a9 gfeor feem o 4
e 98 Tl TEH W F
E 8 gd e A R, o g gy

i B ok gEwr @ g 1 S B fraft T 2 2
JAHR STE- ey dwe Al st AR E/Ewﬂ
ot e Frif R o, @ v AR aEh S e ui>
U S & fog AR B o g | O “mm }
fﬁﬁﬁ:ﬂaﬁws’mm?{mzwvﬂm} -
A = 46. Qﬁﬁmﬁﬁﬁi@ﬁm{mnmm%._.;
sz/f_ el e o % am Ay,
(b) 13 (a) 0-6 99
P e e e
d 15 LL/“{,‘_;Y <, Py 615 99
é )

7 o
8. 1 = @ Fem ok o W = 000 B
Eﬂam%,ﬁﬁﬁmmﬁﬁmmﬁ
ﬁtﬁ%ﬁ%ﬁﬁﬁﬂﬁwﬁﬂﬁaﬁm
ﬁtﬁﬁaﬁmﬁﬁﬁﬂ%ﬂﬁaﬁ{ﬁaﬁp

47. =% Y F IR i oo
R Frefefas & & shai g

ﬁﬁﬁ@ﬂam% ﬂmm-ﬁm
Ao ke 3. 481

OIS s
(b) =15 gtp"’"ﬂ ':’IQ)@ML-

) %14 (L o

d) =13 (S
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Which of the

Aoy follgys:
;-eferc-:?m_ to the :\rli?tl]“g Statemen.
1. Retai) € sector je/nw. B Wit]
W trade fq)) 'SIATE Corpegy 9 | | B1
5] B 7 Researcy o0®UBdenterse e |7
q ac ti\-’it:,- d ':l'ld: [}{welupmmu *th.lw.
ﬂ'[‘-ti\-’it,}rl mes undepy Bt l!aﬁ{,d
aterpy.
Select the COrrect Tnary
helow : ANSwer using the o
I ' Code given
RBFR (a) 1only
(b) 2only
(¢) Both1and?2
r:i‘q:ﬂ-f (d) Neither 1 nor 2
ich of the followi .
49. Which o owing statements .
31?['{ National Skill Developmen :3'11“; about the
is/are not correct ? ‘Orporation
1. It is a not-for-profit Public Limiteq
;.,-?R Company set up by the Ministry of Skq))
Development and Entrepreneu,.ﬁhm
. It promotes skill development hby
catalysing the creation of only largé
quality and non-profit vocational
institutions.

Select the correct answer using the code given
below :

meiul::l' the followi

State ment [ -

In Indig, Central ¢
infl

NE statemeonts -

i
'E]“'{:l'lnlu‘n'l 1'!“.1 "'I‘II.'|;|11I_".-'~. 'iI“‘-I

ftion i
target, in conaul ation with Resorve

Bank of Indin

N terma of O
’ : : ANgumer  Price
Iﬂdl’_"‘.l{ once in fiv TOEYEX

€ Years,

Statement I -

At ]?ru:sunl, the Monetary Policy framework in
India is operated by Central Government.
Which of the following is correct in respect of
the above statements ?

(a) Hoth statement 1 and statement 11 are
correct and statement 11 iz the correct

explanation for statement 1

(k) Both statement 1 and statement 11 are
correct and statement 11 13 not the

correct explanation for statement 1

Statement 1 is correct but statement 11
is incorrect

()

Qtatement 1 is incorrect but statement
II i2 correct

(d)

(a) 1only 52 Consider the following statements
-. (b) 2only Statement I ;
(¢) Bothl and 2 In India, the RTGS and NEFT payment
e (d) Neither 1 nor 2 systems are owned and operated by National
35[}{ 50. Which of the following statements with Payment Corporation of India.
S eference to the Atal Vayo Abhyuday Yojana Statement 11 : |
: @Wﬂﬂ is/are correct ? Mational Payment Corporation of India is an
"1l | Fulfil basic needs of destitute elderly | entity promoted by banks. :
" p - ‘e eorrect 1 sapect 0
iti Which of the following 15 COTI ct in respec
el ﬂu?ens gthen intergeneral ional sbove statements ?
B, 2&- Buﬂd .E,n.d StI'E]‘.'i ) "l.]. t,hE." a - i ] et
h Hegions #atement Il are
relationships throug (a) Both statement 1 and statement 1 : :
fiepousss R o ion to correct and statement 11 18 the correc
n n .
=l 3 Provide guaranteed monthly pensio explanation for statement | !
1 aii aaneant |1 A€
elderly citizens : tres for (b) Both statement ] and :-1.:1t:.1‘ll‘ttﬂt o
4 Establish Atal Incubation e " correct and statement II 18 ”‘;
: 1£1 - arr N i ‘.lt
3111 elderly citizens . the code given correct explanation for statemel o
Select the GoRXeCk R P (c) Statement 1 is correct Lut staten
! - . o
3ﬂ-{ hElﬂw 4 18 1NCOITE . meEﬂt but gtatemt nt
(a) 1 Ea and N tatement [ is 1
() 3and4only 1 is correct
(¢) 1and?2 only
(d) 1only “5_]]}
BNYR-U-GAT




(e) 13K 23Hl
(d) Tar1,7¢ 2 .
49. TS Fhye e fm % ar 8 fefafad |
q FHA/Y U wh 78R 2
1. 7& Fve fawmg vd safia wEeE @l
wfya feavyedt ofers fafies S
2|
2. U8 %9d &3, o drel AR I-ATHRT
e e T % ged @l
%ﬁﬂﬂaﬂaﬂmﬁmm@ﬁqm
|
(a) ad 1
(b) *aT2
() 13k 2z
(d) :ra‘rl,'-'r.ﬁz
50. A I FYF AT (AVYAY) ¥ Ty i
Feferiga & 9 FR-ara o a8 23 0
!
2. @ﬁamq&ﬁmﬁ%wﬁ

b)  Haw 3 3fy 4

©  F9e 139 o

(d) e 1
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s #, b5 TR, Wy fge Ko
o A R T Py o T
HYT 1l : o

gdad H, 9d ° Hifgm
210 SETferd foRan Srar 2

a2 2 Wy
(@) HII AR HYEI z:“r;ﬁHEFT 3.
mll,mlﬁu@%% f
(b) HII AL FHI 33 T
WII,WI#WW%?
(c) T IHE 2 fobeg Fot 1oy
(@) FHF 1T ® T o 11

By

52. Tfcifigd el W foam Hifiu .

PYT I :

WRd H, RTGS 3R NEFT gmm
T U8R g i % wie
3 g S=ferd 8 |

HYT 1T -

;ﬂ?ﬁaﬂ‘ﬁﬁ?wﬁm,ﬁﬂﬁmﬁf

|

SHYT FUET b w1 Pt 199

el 8 2

(2) FAT 3 Fop o WL
BYF 11, H9 1 1 T8 S ¢

(b) HII I wygy oA Hﬁ‘i
U 11, o 16w I A

() Wmﬁ%ﬁﬁwnwﬂ%
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o
Statemeny 1 . Wing Statement,
A very atrg
n
credit. € US Dollay

Squeezeg global
Statement [ .

Many CoOuntrie
S and
America borraw ; in D;lar N
Which of the following is correct in
the above Etatem&nt& i

(a)

outside

Both statement |
and statement
correct and statement iy

IT is th
explanation for statement 1 o

o Both statement 1 and statement 11 are
correct and statement I is not the
correct explanation for statement |

S‘[:atament I is correct but statement 11
is incorrect

...f T

“Eta’tsment 1 is incorrect but statement

ﬂl-r

fPh

1987,

st in respect of

Etataement Il are
¢ 11 is the correct

i o StatementLiE :
is incorrect : ct but statem®
@ Statement 1187

Recently which one among the following
committed up to § 25 billion for the next five
years to fund India’s infrastructure creation

under the Prime Minister Gati Shakti
initiative as well ns

gocial
climate action, thus aiding I:ETEE ET];::;H.;[:::.
for green growth 7
(a)
(h)
Le}

Asian Development Bank
International Finance Corporation

New Development Bank
(d)  World Bank

‘l.argg: Language  Models', sometimes

deseribed in news, can be used in which of the
following ?

1.  Creation of reimagined search engines
2. Health care

3.

Software development
4,

Translating a language

Select the correct answer using the code given
below :

(a) 1and3 only
(b) 1,2 and4only
(¢) 2,3and4only
(d) 1,2,3and4d

With reference to the three types t::t‘ carbon
emissions from companies, consider the
following pairs :

ission  Example
L gcn:;:l - Emissions as a mﬂ:i I:;f
emissions  employee COMMU u;
business travel and was
F'T“‘d“':eﬂ sult of
9. Scope 2 . Bmissions as & ;-;t s
: ‘egions  purchase of e 20
s steam, heating and cooling
for own use o
Scope 2 . Emissions from e

. Emigziuns mnsumed

vehicles, owned and leased
ire isfare correctly

mat,{:hﬂd 2
(@) 1 and 2
(b) 2 ﬂlll}’
(¢f 1and3
( d) 3 only
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53. Freafefaa weHt gt faem SIS :
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@Wmma@mmﬁ
siferdfam +tar 2 |

FYTII -
STRftHT @ WTET % v 29 iR Hufal Sleil H
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HEl B 2
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58. ‘Quantified p,

S8tic M

generall Mini
.'.'!" tﬂlkﬁd aboyt n t:lum Tﬂp-up Tax’ is Gl.
€ context,

(a)  Global ; 7
} ﬂnh-ﬂase Erosion Rul
(b Prevent; 7
Ntion of Money Launderin
. 14
(c) R.eg‘ulatmn of Gryptﬂ-cut'l‘ﬂn
e
(d} F

Virt g
ual Digital Agset Transactions

Which one of the following State

describes the term ‘Prowess, ’ sq ments best
X

. m - i " F

g e etimes seen (a)  Depreciation is a non-cash expense.

2 . (b)  Depreciation is the process of valuation

(a) A special-purpose supercomputer with of assets,

a hardware architecture dedicated RO R e

" e isob] to a and tear caused by usage.

| T & o _ (d) Depreciation must be charged so as to
L @) A database of the financial performance asce:rtam true profit or loss of a

. Yy e : : business.

: € L of companies that is specially designed

Py T fﬁ&ﬁ&ﬂ&ﬂﬂ 63. A credit purchase of machinery recorded in

(e) - A computing machine that uses the
_properties of quantum physics to store

I 'meutaﬁan
base in which collection and
data is done on user’s system
is basically designed for a

62,

¢ 725,000 for the
Overhauling expenses of r fuel
engine of a motor car to get bette
efficiency is :
(a) Deferred revenue expenditure
(b)  Revenue receipt
le)  Capital expenditure
(d)  Revenue expenditure

Which one of the following statements 18 not
correct ?

Purchase Book instead of Journal Proper 1s an

example of :

(a) Compensating errors
(b) Errors of commission
(¢) Errors of principle
(d) Errors of omission

The practice of appending notes regarding

S 64.
B e .
e contingent liability in accounting statements
is pursuant t0
tioned 1D NEWS: (a) Convention of consistency
(p) Money neasurement concept
o of conservatism
ate governance (¢) Convention * T
(d) Convention of full disclosu
Ll : iy ssified as’
S uration Govereign Greer Bonds |gg  ‘Outstanding rent may be class
Long-duration SOTEEEE o () Naturel personal account ;
oli . 5 , : unt
(¢) Concess1ons and ax-holday® G (b) Representative personal acc
e ,
[} ; t
| compames (¢) Real account
Startup +a1 Eﬂtﬂgﬂﬂe . accnunt
il S certall (d) Ngmmﬂl
(d S ecial privi Egeﬁnanmal Inﬂt:ituﬁnn
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58.

.J 59. frfufea #§ @ #99 & @yq wH-HH
'.I ' Hﬂﬁﬁﬁﬂﬁmﬁ‘ﬁuwessﬂx'ﬁﬁﬂﬁﬁq
&9 H gt quiq 2 ?
(a) frdft vea wgenm & gufia gEd@

61.

62.

(d)

(b

gefiAtt &t 3um @i |
31o0) 5 28 % 1 e g g
ST foraeT SerE 2 0 i
(a) ﬂﬁﬁﬂm (e

(b) @ Vg
(c) ﬂ?&’lﬁﬁm

(@ =9 3ryfg (
< foait & wreifies 2 % gen b s
HETH A A agfer fora st §

(a) THETAr &t gy

(b) Yl HIYT Hheu] 60. °

(c) wfatiear i viw |

(d) 9o YR Y wiuy

SERI TRET Wt fem w1 i @
Hhal B ?

(2) A SAfeFra s

(b) Wit =i e

(c) . & v

(d) A= @
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(&) <= Az
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() 1313

A T | 5 (¢) hadl 4

I : d) 233

: (a) T SIS
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| (©) ¥ TS

(d) T84 T
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. (a) zﬁm I S e i3
i : I H

wy,

» b I =ft A, -
= ¢ T
[ © Hel s & 1 s o
% 319 § ufeq 78 @ g |
(@ 59 A gersfia g (39), @
| FEA & |

e P 3 8 e s




75, An ice cube wit
Etght- ﬂl‘nal];_-r Euhlﬁ i -H'ide i

B

B di

a oo

Which one of th % each wipy :f'ldml into | 7o i
z A e follogw; ok T : & bo
rrect ow . & ard :
) Tln thig CONteag 9 g htummem;dliz Supersoadeg .?: k::pfﬂup&rutwe BOCIetY can be
(a) otal vnlume will 3 i, Thera ¥ :-l“ﬂﬁr Suspension if -
ing el a5
;urfaﬂe area wil| degrﬁa;:&ab nd g of duties S Lt Performanee
b) otal : 2. :
: surf':a;;m--;ﬂ:.lumIE Will decregg, oere is any act Prejudicial 1o 4y
T in ' Lhix
%3 ), Total area will INcreage and tota) m:qr;:it e Crdpsrative Bociety or '1‘:3
(4] ; ’ ¢
S e il 3. The body has fu
surface area will eres ame gng ¥ has failed o conduct elections
He

9 in ﬂ.m:ﬂ'r& o] 3 ;
a1 (d) Total volume will incre i State M:“‘-L Yith the provisions of the

surface area wi . oS8 and pota) .
A Will remain the same, 4. There is no Government sharehaldings
or loan or financial assistance or any
76. Which of the folluwing statementg Pt VR MR Hongrmniny,
ey % re ard' u
the attendance of retired judges at g Barding Select the correct answer using the code given

i ttings of below :
ndia is/are correet 2 (a) 1and2only

1. A.rt:iclla %28 permits the attendance of (b) 1 and 3 only
retired judges at the sittings of the {¢) 3and4onl
Supreme Court. e

- (d) 1,2and3
H 2. The Chief Justice of India may at any =
time request anyone who has held office | 78. Which of the following statements regarding

the Supreme Court of |

F!'v as a Judge of the Supreme Court or of a the Member of Parliament Local Area
High Court to sit and act as a Judge of Development Scheme are correct ?
the Supreme Court. 1.  The nodal ministry for the scheme is the
The Chief Justice of India may at any Ministry of Statistics and Programme
time, with the previous consent of the Implementation.
President of India, request any person 9  Funds released under the scheme are
whﬁ-has held the office of Chief Justice non-lapsable,
of a High Court to sit and act as a Judge 3. The role of the Member of Parliament is
of the Supreme Court. limited to recommending works.
~ The Chief Justice of India may ai any 4. 'The scheme is confined to the State from

21 o

which the Member of Parliament 18
elected (Lok ' Sabha). However, &
Member of Parliament from Rajya
Sabha can recommend works anywhere

time, with the previous consent of the
President of India, request any person

f the
; 1d the office of & Judge 0
who has he and act as a Judge

Supreme Court to sit 5 ehe coupkey; e
. k P
e . g the code given Select the correct answer using the code g1
Se’lﬁl‘:t the correct answer using below :
b'éluw 2 (a) 1and4 only
(a) land4 () 1,2and3 ﬂn:}*
d 4 only
d 3 (e) 2.3 an
(¢) 2and4
(d] 1 mﬂ}" ( 23 — D }
BNYR-U-GAT
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e |

2 |
© T s A wn e S g 76

HIF "M |
(d) HE AT @@W IR Fe g B

& T4 B |
76. 9IW % IwaN AEEE 6 dgwi d daragd
=rardisit 61 sufeafa & ey # frafafa & @

FH-HIE FHUT TEl 22 2
1. 39=8g 128, I=dq =grcid #I d3H A
%ﬁ;?amnﬁﬁ#w@:ﬁﬁmaﬁ
:
2. YA %1 g =gl fee ot e e
i, Sl I=IE =rEeE 91 3= FEeE O
=iy &% w9 4 g g W ogen 2,
S=dH AT il 98% § IuTq 29 it
T AT F T H FE HE F ey
% T ¢ |
3. WRA %1 Y& Al fhef o @, wwa %
- Tfa # g weafy @, f s st
*““”"ﬁﬁsanmma%yﬁnmmﬁ%ﬁq
AW W W g R, I=aY e
F”-ﬂtﬁﬁwmﬁaﬁﬁﬁtw%qmﬁm%;
- S FR S0y s 2
4 I %1 969 =magfd et off a9, awg 3
mﬁﬁﬁﬁﬁﬁmﬁ%‘%mﬂhﬂ%aﬁ
'amm=mmmw%ﬂwmﬁm€kﬁnﬁrm
F I R, S T A daw o

ﬁﬁﬁt 9% =y & vy &
ﬁ#g?waﬁmﬁuﬁm%l il
T 2 =T YT :
(a) laﬁIF ’ﬂﬂiﬁmgﬁq
(b) 13k 3
(e) 23ﬁ{4
(d) ';‘h‘o'm;;

(b;ﬁmu@n#ﬂﬁﬁ"‘!@“ Y

BNYR-U-GAT
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78.

s
et wEarrd EEEA F WS Ty iy
mm%mjﬁ“““mﬂq@mﬁx
zfz .

L e % P H R Ay

9. =rd UEr Hed B T R, Tx’hnﬁq;rﬁ
a1 3Eh Gl & fEi g bh
e 9ret 2 | !M-
mﬁaﬁqwﬁqﬁmrﬂﬁl f

4, Hﬁﬁmﬁmmmmh
ﬁﬁummmmﬂﬁmﬁmﬁ=

(a) Wlﬁz 7

(b) hael 131 3

(¢) had 33 4

(d) 1,233

MEH@ﬂWﬁméﬁﬁﬁmﬁﬁmm%
ﬁm%%aﬁﬁﬁhﬁhﬁmmaﬂm

1. @m%%{qﬁgﬁmw
ﬁkﬂﬁmmﬁamnmmamm

2. 3Hﬂ$n%aﬁhaﬁﬁﬁaw
Bl |

3. mﬁiﬁm?ﬁ e Fmin w0 ;
SV S T il 2 2 |

4 W A 3§ T % dfE o
Sl 8 9% Tme wew fifw o
%(ﬁmum)tmﬁinﬁﬁmﬂ*
U <0 | FE oft Fmio wl §
L Tl 2 |

At 13U T % &t w@m = gd Iw

(a) “had 13fk 4

(b)

(¢)
(d 1,2 33K 4



lonal p
Un = Iy Tuda

ﬁ Fmgramme T = 1ted N{tlﬂjna DE\;EI“ Mithasy 1
R ASurement f Pment

A Nutl'itlun
h 2. C'ﬂ‘ﬂking ﬁ-lE"l

S Assets
i 4.

School atteng ance

Select the correct answer us

1T«‘-"'Ilir:'l1 one of th
in the I{ugulming Act of 1773 7

[El.

ERS 1 made  the Presideney
supreme fver those of B
Madras in matters e
peace,

¢ following was not provided

of  Bengal
ombay  and
lating to war and

(b)

The tenure of the Governor-(

i _ seneral and
his Councillors was fixed ag

five years,

(e} The Supreme Court of Justice was

ﬁ ing the ¢ I established at Caleutta,
low : ode given :
E be (d) Thfh [Ttwgmur-Genumhin-ﬂnunci\ was
’ Tl authorized to appoint successors to
(a) s Dy d4 Bombay and Madras Presidencies.
T (b) 1,2 and 3 only B2. Which one of the following statements about
2.3 the Government of India Act of 1935 is not
(¢) » 3 and 4 only correct ?
(d) 1 and 4 only {a) It was an outcome of the Round Table
Conferences.
: (b) It provided for the establishment of an
‘Which one of the following was not All India Federation.
recommended by the Dinesh Goswami (¢) It retained 3 the aut’nnﬁhj of the
i (1990) ? Secretary of State over the Government
Committee ) of India.
" (a) The appointment of the Chief Election S iUl b promsion, of Brovincial

Commissioner should be made by the
President of India in consultation with
the Chief Justice of India and the
Leader of the Opposition.

‘The members of the
comms:nn should be appointed by the

Election
President of India on the advice of a
.Cumttee, consmnng of the Prime
Lﬁmﬁ‘ter and the Leader of the
Opposition.

The consultation process should have &

Autonomy.

83. Match List I with List I1 and select the correct
answer using the code given below the Lists :

List I List IT
(Congress Session) . (President)
A. Lahore Session, 1. Madan Mohan
1909 Malaviya
B. Calcutta Session, 2. Raghunath
1911 Narasinha
Mudholkar
C. Bankipore 9 Bishan Narayan
Session, 1912 Dar %
D. Madras Session, 4. Bhupendra Na
: 1914 Bose
Code :
A B C d”
2
(a) 1 2 g 4
(b) 1 = g 1
':l'.:..l 4 3 9 1
(d) 4

statutory backing. |
(d) The ﬂppﬂintment of the other E:actu:-n:
e 1
Commissioners should ct:jefmglectiﬂn
1 ' he
tation with & ' =
CCﬂnBUJ'ssmuer the Chief J ustice of Indi
ommi : .
d the Leader of the Oppositio
an
BNYR-U-GAT
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v famra FEmA W@ st AT
79. ®IF Uk a7
mﬁ,—rﬂiﬁg@ﬂ-‘lw

T L e
2 siyei ST aTel $67 T

3. et
s e § Iofeafa
mﬁﬁqwﬁmmﬁﬂﬁﬁﬁﬁ‘“
@) 1,2 834
(b) A 1,230 3
(c) FaA 2,33 4
(d) I 13K 4

82.

80. fr=feiiaa # & Hi-81 Uk, feaw et |fufd
(1990) Zr 3iTaa 77 fean a1 = 2

(a) F&I frafed s 1 FEfe ora &
Tegafd % gRI, Wd % ged =g i
;?ﬁﬁﬁiﬁ?ﬁﬂTﬁ?qﬁﬂﬁﬁiTﬂﬁ?ﬂFﬁ'ﬂﬁ%Q|

83‘

&”f-fq_%i?aﬁn woH i sfiger
%ﬂﬁﬁaﬂﬂﬂrﬂaﬁﬁ‘ﬁméﬁ
m'ﬂ"ﬁql

() wme i ) Wit Tuel ww
e | '

@ =1 e g < Frafs e e

ﬁﬁfﬁiqnnﬁfiigtﬁ=aﬁ%q | gl

BNYR-U-GAT
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B81.

eafe 5 @ 68 TF &+, 174
271 et T o g %,}_{

tee 1 I9AY
i = |
(a) g;gaﬁgﬁaﬁaﬁ wﬂ*‘i% 79
oy 3y TETI S | %r,_
m_mﬁ?m e
(b) i = “ﬁi}:

(d)

mmaﬁﬁw 1935 % &t §
(a) ﬂ%‘ﬁﬁ“ﬁqﬁﬂaﬂwml

(b) FWH A IS B R o
3Iqay feran T 91 |

() FEA el I R F ity 5, 8
R 8 FYL S0 T |

(d) ¥HH ST Tl H WY i,

T |

@Iﬁ@llﬁgﬁ%ﬁﬁﬁqmw

12 fom T e 1 Em O s
gl 1 gh
(AT ATE9r) (37¢78)

A WER FfesH, 1. 6o dmm
1909

B. sl sifudse, 2. Wy A
1911 Cler

C. dihigt siftmsm, 3. w7
1912

D. g Afedem, 4 W T
1914

%

A B C D

(a) 1 3 9 4

ih) g1 2 3 4

(c) 4 2 3 1

. 4 3 )
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87.

a4 Whao amaon £
Bhonsala Milig, lﬂ. | ""“‘-‘-’ing
. L ‘: = 5]
(a) V.D. E)a":‘ll‘l{ur 1001 g N“-“Sh;;;“f Bale
(®  MR. Jaya ' :
r
(c) N.C. Kelkq,.
(d) B.S, Moonje
Arrange  the ¢
 ith Pandi: lowing gy,
¥ l ; Mﬂ.d& - L]‘ll.!_-i ul‘lRﬂ A
chronological opgea ohap : OCiateq
= : er, Hl&ﬂing with ;h-l E!.v::._,“ i
: Uﬂ‘?nd“%g of  the B e
mversity ahdras  Hing
u
2 Formation of ¢
Fart_',.r e Cﬂng“w N&tmnalml

3. Fﬂunding of the

Leader’ English NEWSpaper “The

4. Founding of the
at Allahabad ticdy Boarding Hoyse

Select the correct answer
below :

3-4-1-2
4-3-1-2
4-3-2-1
3-4-2-1

using the code given

(a)
(b)
(c)
(d)
An employee shall be covered under the
provisions of the Payment of Wages Act, 1936,

should the employee be drawing a maximum
monthly wage of :

(a) Rupees fifteen thousand

(b) Rupees eighteen thousand

(¢) Rupees twenty-one thousand
(d) Rupees twenty-four thousand

A minimum rate of remu
be applied to an employe
work for the purpose 22 :
Y 5
employees a minimum Iae
work basis under the Minimu

1948 is known as :
(a) A minimum piece rate
(b) A guaranteed time rate

neration which shall
e working on piece
gecuring 10 S!.ll‘:h
wages on a tiune
m Wages Act,

89.

90.

(¢) A minimum time rate

) A guaranteed piece 72

BNYR-U-GAT

Mateh 1; i
PR, 1:::. Lwith List 11 nnd select the correct
M ng the codp given below the Lists :
d” s Lists
’ List 17
fProy
r\ !1ﬂjumun} (Legislation)
. By Py ol iy
(";.::I\:.Ir.r:. 1. The Industrial
<1 Employmaent (Standing
x Orders) Act, 1948

L. Scheduled 3.

.
i AOmpulsory o

The Mini
INImuIm
]naurmm_- Wages

Ack, 1948
" The Payment of
Employment Gratuity Act, 1972

D. Subsistence 4. The Employees'

Allowanee Provident Fund and

Miscellaneous
Provisions Act, 1952

Code :

A B B D

(a) 4 3 2 1

(b) 4 2 3 1

(¢) 1 2 3 4

(d) 1 3 2 4

An adult worker who has joined on

1% January, 2022 in a factory and worked for
220 days during the year has been laid off for
25 days as per Standing Orders during the
year. How many days of leave with wages
shall he be entitled to during the calendar
year 2023 ?

(a) Nil
by 10
(c) 12
(dy 11

As per the provisions of the Industrial
Employment (Standing Orders) ,ﬂuufz. mf: :
standing orders shall come into operation after
the expiry of how many days ﬁ:um the da:; ;r:
which copies of the order of tllm‘:'izp; 2
Authority are sent to the employer an

trade unions ?
Seven days

(a)

(b) Ten days
(¢) Fifteen days
(d) Thirty days

{2}'—-[;':'

___‘-



: & gafem FIR0 o gy 3
= Ei{aﬁﬂfﬁﬁaﬂﬂm“mwﬁm: : 84
g 1 gt 11 s
) TR, TR A. Fgeh 1. s friem (s
(c) E‘Fﬁ-w stferaTdt armewn) fufEm, 1946
@) um. g+ B. sifyard dftar 2. =gaaw weed sAfufem,
4feq med Higd Wy @ wét FEfifea 1948
" ol 9, W v T A TE D, C'Wﬁﬁm 5 Ewmﬁﬁm’ ¢
FPICTshH § weafed T D. frafe war 4. st wfrs fifty sk
1w famg favafaerer & e shiot suey srfafrEm,
2. HiNE U ga (W AwEfRE ) 1952
CIRCE ®e
3. 3t sr@eR e fiet i geyraa A B C D
4. gomRER | fawg Sifdn g #i gemgar (a) 4 3 2 1
= fou e e &1y W ud I g (b) 4 2 3 1
(a) 3-4-1-2 © 1 P 3 4
(b) 4-3-1-2 @ 1 3 2 4
(¢) 4-3-2-1
(d) 3-4-2-1 89. g ‘gzsﬁmm{ %1, e 1 s, 2022 =
; 4 HRETE R 2 o ad ¥ A
86. fobdll A= & Terghl wem siffrm, 1936 % 220 21 e fem B, Tl smw ¥ sEm
9EYl & o W ¥ fow 3w Afiran % 2N 25 o7 % o S wd w2 | @
AR #refl o g R 2 FAVS A 2023 F A For Bl A e
(a) Y58 R T9U Hied GE 1 7HGR AT 2
(b) SASHE AR T (a)
() SFhIH AR FIU (b) 10
(d) +Iefig FIR 9T © 12
(d 11
87. iR wagll sifufm, 1948 % apfl, W@
mﬁ,a’rnﬁ@wﬂw;q{ﬁa‘rﬁﬂaa 90. ;ﬂﬁﬁmﬁﬁm(wm)aﬁ:ﬁm,w%
FICITI B % MR G Al 7w 39aYl % IR, FEme W ik Y b
YR 0 % R % fore, S 37 s ®l it TRER % omw & whed e
BB G S A S A -
FEard! 2 9 ; ST T § S 2
( WW
{:i ’Slfﬂ*l@ « (a) 9@ f&
© g (b) 7 A
PIETIFITCT 3T :
@ S T o (c) g fam
BNYRAUGAT (@) i feA
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rs
' ihe E;r:uf::ﬁmm'ﬁ::uhthhe m’”‘iﬂatgd
e o 2 th 1 Hon .o,
2093? Sﬂﬂia] s&:n‘;ﬂ f the
@ Eighteen W Ay
) Twenty
©) Twenty.gjy
fd} Tl'ljl't)’-fﬂur
Which one of ¢ folles
not a Social Secuﬁt:u;;?g €mes g
Unorganised Workerg’ Suﬁ;m& Under 4.
2008 ? Security 5

| Societies
employing fifty or more Persons working
without the aid of power.

‘ }d) ‘The contribution by the employer to the

Fund shall be on the basis of the basic
Wwage, dearness allowance and retaining
allowance (if any) of the employee.

‘Ina desert, X and Y are two spots that are
separated by 100 km. At point X, are placed
- twqpllla.rs, one black and one white. Along the
lme Juming X and Y, a white pillar is placed
for every 180 m and a black pillar is placed for
every 350 m. How many times can one find
black and white pillars together while

traveling from X to Y ?
(a) 14
) 15
(c) 16

s




(b)

oo, frafofem # @ WA T AT :mfFr 5
T ErTE g A, 2008 %
T g e 78 8 ?

(@) TSy uriaETi A

(b)  wAt st FreEn

() FHHEN 994 ST

) U T dun A

93. %z TN gm Tfsa fmfafed sferH
F @ Han o, wiEr i ffy o s
Jgay AT, 1952 % e Sdiela e

& ?
(a) T ufasy fafy sidiea st 96.

(b) T Aferpror

(¢) &M Idfichy srfeestor
(d) 3irEifres s
94. wHfd ygfaem srftfem, 1961 % Iwedl %
T @ % e sgfd wglen % w9 4 fea
@ﬂ?ﬁ#ﬂﬁﬁﬂ@ﬂﬁﬁ@ﬁw
9 ;
(a) TS EHIE
(b) €NE HHIE
(c) HIwE HATE
(d) @estg HuTE
(28~
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(d)

e FM FE TS TEE
“mqﬁﬁﬁ\ |

fopeft woufl H, X SR Y @ fig ¥ o

100 foeifiet gL & | g X W, 3w o,
T R TH The, WS TR MR | o,
@l Sied dEfl WOW, TH T @
180 HIeT 9T AR TH HTAT WEAT UF 350 8

WES UM E | X VY 7 50 gl
SR HIe AN T%e @Y U HiY @2 e

(a) 14¥RF

(b) 159K J IS
e

(c)

(d)




p, & R, S T and
]"Iﬂ'ight"q of S &nd irg suff; ‘FI‘| nes W :
T2 icient l'.ur hich o

L KR 1s Shl:ll*ter L} Comy

friends. lan p Bl

U s tall 'L&Her than Protogg) ) 2 ﬁ'l”l!‘.‘r'ln“ T
2 er th oth (ay 1t 4 sdcurity

although Qi N Q byt e PLS

. 3
the friends, ' ‘he n:: * than g ) ssi,
&t
- the amgn (e} I
Ht‘lltt correct answer. usin (d) g
peld B t-he o MIME
ode o E
s given

' 2 alone i ; « LaTeX do
i Both 5 sufficient i cument does not contain -
':.c} 'Dt' 1 3nd 2 are ocumentela ar

1 a d 2 re nl.'.it- Suﬁiﬂient {h} \he . HS{E!T?.]L‘HI
(d) Il together are suffic gin{document)

cient (c) \end d
ocument)

Eight chairs are place
d at a uniform iRt (d) \documentstylelarticle)

are equal distance awa e.CandD|1
¥ from both A 03. The decimal equi
and B; B equivalent of (1101}, is :

gits between A and C: G -
each other. Where does H Siatr;d ' sit opposite (a) 0-8122
(a) Adjacent to D (b) 08123
(b) Adjacent to A (c) 08124
(c) Adqacent to F @ 08125
d) Adjacent to G
104. 11 ;

A B and C can . iduatly Eniava b, 04. In a worksheet, v»"tuch one of the following is
15 and 6 days, respectively. If all of them work RO A el nel S !
together, in how many days will they finish (a) Relative referencing
the job ? (b) Real-time referencing
(a) 2days (¢) Absolute referencing
(b) 3 days
© 4days (d) Mixed referencing
(d) 5days b s

105. Which one among the following is used 10
A dice is thrown two times. The number of combine several object modules and libraries
ways that the number appearing °r iy ﬁrs& to a single executable program *

i on
throw is not less than that on RPRRes (a) Interpreter
t - - "
hrow is : () Compiler
(a) 15 i
b 20 (c) Linker
© o (d) Loader
d) 36
(31-D)
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-

Sl o o P T
- M T ) c . %?T ﬁ ﬁ
7. PRQRST aﬂrﬂu or g & | ﬁﬂrﬂﬁﬁ?;;;' 101. I:‘fffa
" @A, s el T #) samEt & e R |
fora qafa 88 2 - (a) TLS
L. R, P& & d vy 8, fimg o fad —
o # |
2. U, Q& & g, fg s & ward 4 911 2, (c) TIPsec
7aft @ st % s orard § wa@ B T @ MIME
il f q‘r_ﬁ' Zrd1 ?
19 1% 0 2 1 wam w5 aft Io gfi ; 102. LaTex Sragiie # @41 TS
t:: UHHTH ;ﬁg (a) &dﬂcumentﬂiasslmi‘:lei
(@), 13 2511 gty TE B (h) "..hegin{d{mument}
{F{ 137K 2% s ERILE (¢) \end{document]

i m?ﬁﬂfﬁﬁaﬂﬁ%maﬁq@{a}ﬁ (d) \documentstylelarticlel
VPEAH T W ¥ | sk D, A 3k B
ﬁﬁm@?w&maaﬂrc%mﬁh 103. (-1101), %1 Z9HeTs THGET 41 @ ?

?:GaﬁtFQm-qai%mﬁ-Hmﬁ &
H %8 321 2 7 SRR e (a) 0-8122
@ DFHIFwmmd (O)Y Ef (b) 0-8123
- C (b) A % 3% e § :
g X © F%FdF e > i 7517
¥ @ GHFImami & §g © (d 08125

99. A,Baﬁrcmﬁn-mﬁsmmaﬁm; 10,1104, fFelt wdbofie &, Frofifae & @ FE U,

15&1161%??13‘3313?{@?:3%%%@ Fiftsa THifET wEw) 757 2 0
1Y i & 39 w6 w1 W, @ F 35 B R o AR

fohe 1At 4 qr =t w0 P o wx (a) wmfars sy
(@ 2fHid R B e
(b) 3 fet % e Sl © g fdy
() 4 fHi% @ fofye fdy

(d) 5 3 o
100 @“fmﬁ’fﬂﬁ%am%@ﬁﬁm%m%, 105. fefafgs o 3 e = = 7 R o

ﬁfﬂ@%?ﬁw%%wﬁqtaﬁareﬁ . .
ww%wmmmmﬁ m“@(ﬂ@ﬂﬁ)@wﬁmﬁm

T 2 9 (5m) & ¥ 3 3 e 2
(8) 15 (a) fidas
(b) 20 (b) 3IFuTy
teliss 91 .
(d) 36 S
(d) Y
BNYR-U-GAT
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108

109.

110

| 11,

An incandeg,
= @
is connecteq o bul rate
PO that digg; 2 290 yd 48 10p
(a) DHOW Patg

8in th p“Wt‘r su at Lig v
b) 100 € bulp,  'PRly, g g
( W Woulg hﬁ'}'h,a 12, Whicy ATdf
(e) 200 W I Indj of the Tollowing ia/are “lEment-
n’ F ¥ I i - : . .
@ 400w : Achamriy  yjew oN limate

ﬂhangn.?
If thut:.:I l?ng't,h of & o

D ina. - S
current I the wirg b g Qiffepn ¥e s
(a) be doubleq d: >
() be halved

(¢) remain unch angeqd

Indig Will reach

/ y ey
o , its non-fossil enersy
Apacity of

" b
3 500 GW by 20230,

Indin ;
¢ : wWill  meet 5% of its enerEl
SQuirements from

Teme i
2080, newable energy by

Select the correct answe

(d) become zerp Below - T using the code given
l&} 1 {}nl.y
Crystals of copper sulph,
- te
heating, form : Pentahydrate on (b} 2 only

(c) Bothland2

{3) blue colour salt
(d) Neither 1 nor 2

(b) white colour salt

(¢) green colour salt
(d) brown colour salt

113. What are the prerequisites for declaring any
area as a ‘Scheduled Area’ under the Fifth
Schedule of the Constitution of India ?

Tartaric acid is found in : 1.  Preponderance of Tribal Population

(a) Tamarind 2.  Compactness and reasonable size of the
() Tomato o

(¢c) Orange 3. Economic backwardness of the area

(d) Vinegar 4. The notification must be issued by the

whichions of the following is an example of Governor of the concerned State

1 ) the correct answer using the code given
chemical change ? Select

(a) Melting of wax below :

(b) Heating of iron (a) 2and4only
() Dissolution of sugar 3 o e (b) 1,2 and 3 only
(d) Burning of magnesium 10 it (¢) 1and3only

(d) 1, z,aand¢

L : L a
Which 'ﬂne'f. Of the fqllﬂ? e as “E‘pﬂrﬂted from
- N Sen s Tndia : dget was ®
constitutional body 1 1€ s Commission 114. The Railway tﬂl;iigtﬂ'
R o o Rjgh 0 ]
o Nahonalﬁﬂmm ission for SChedUIEd s Bu{:,gi've Convention of 1929
.1 Commissio stributi :
(b) National Co (@ Di ention of 1924
Tribes d aration GO - ond
. 1 Commission Bockr®® © Se?u _ation of Estma!e® of 192
oHE R sift

(e)
(d)




106, 110 V 9T 100
ey 920 V fgd TRE € T
21 greft wifen @ B 2
(a) S50W
(b) 100W
(c) 200W
d) 400 W

108. HR Fe¥e Yererede ¥ Feteet qung A T E
91 8 2

(b) F&T TT &7 A
(c) B T+ a9
(d) R TT FH GG

109. 2refe 3 fopad grar sira 2 2

(a) IHEA
(b) ZHTH
(c) Hau
@) e

110. f=foafiga 7 @ a1 s, TaRtF fadT
JTTE 8 2
(a) WIH = e
(b) TR T qYET AT
(¢) &1 # <fft #1 gor
(d) Bt o Ay & S

111. f=fafas 4 3 '
S HA-H UF, YR ¥ wifumi
(a) TN o9 ARHR s
(b) TS gl S
(c) T et ot arpiy
@) T SR s

113.

BNYR-U-GAT

(32 -

D)

114,

A FT
5, ~ W 2030 T ST
50% FeENd HT | QU Hay | -

3 fo 0 RE F T HCHE I gy
ad 1

shaol 2

]_:-;1’1'7(22'37'Fi

gt 1,98 2

(a)
(b)
()
(d)

155

o 34 &3 h FEAAT I AN s

3. 3G &3 H AUS U

4, TEH AUTEA TEHE T F we
g S &l STEIYIS 2

< 4T T e HT TN T Ik Tfw

(a) haed 23N 4

(b) Had 1,230 3

(c) <hael 139K 3

d 1,233 4

[ VT Ief S92 i o7 w9 & I

T 2

(a) 19259 e goiem

(b) 1924 1 gormar getem

() 1924 1 YTehe] &t fEamem

(d) 1925 1 gusH Triem



A

which of the f'
: i#® ihe nuli-u]EctriE :“Win .
5 Bureau of Indiﬂn-g:_;hng . !I““"E]lﬁg
dgvelnped th“da'ﬂhlnﬂ v foe TCary;
- (1S 17693 : 2029, ' ;:113 (BIS) 1, hich the | 118. Una
= 2 L] iy
1. It is » 18/are Cn:i::n E";,E%hu}' 194311-“}'::':;] provisions of the Factories Act,
primarily Aturg] mit_? andarg relating 4, ‘ﬂf“'-‘ of the following statements
milk and Store Tigerat, of the Bite A ¢ appointment of the Chairman
. S alsg for Vegetahlg, ode (a) L;ﬂm,dp]:fi“““‘ Committee is correct ?
Gul‘.k D?.tﬂin ard h“‘l]} ling Watoy fruit : (_‘.':mir':n1;:"]“113“1“1"”' of the State is the
5 =] ;
Develo f Uniteq N H?b n Falfily i A mdependent ;
Pment G ationg g ing 6 the Cha ‘0t person is appointed as
Se]ﬂct the Correct o Oals, > uStmnahh Le) The Lall!"mnn.
; & N : Labour WMins
helow : wer using {} ex-offic . flmmud-r of the State is the
@ code ¢ & i
(a) 1only £ yan The Chief Inspecto
e hePakiathe

(b) 2only '
(c) ﬁuth 1 and 2 19. Match List I with List 11 and sel
Sith ANSWET using ; : sealect the correct
(@ seinor? List j’bmh the code given below the 'i_.'u-'.'Lz-;["f:r
. ich o - % Lis
15, Which of the following facil e fogstar) (hs
pruv:lliEd by the ities are | A, Displ: 104)
, _ contractor to Inter.§ be . Displacement 1. The Factories
migrant workers in connection wi nter-State Allowance 1948 i
T an.establishment n with the work B. Certifying 2. The Mini
: to hi ; e Minimum Wages
Inter-State Migrant Workmen {Rw ich  the o Surgeon Act, 1948
Employment and Conditi egulation of + Half-monthly 3. The Inter-State
ions of Service) Act, payment Migrant Workmen
(Regulation of

1979 is applicable ?
1: Equal pay for equal work irrespective of

Employment and
Conditions of Service)
Act, 1979

sex
i Provisio : 3 :

2 Emmmzﬂﬁﬁ; suitable  residential D. Piecework 4. The Employees

5. Provision for protective clothing ?;;“EPE“E‘““““ Rl

4, Provision for old age benefit scheme Code :

5.  Prescribed medical facilities A B C D

Select the correct answer using the code given (@) 2 1 4 9

below : (b) 3 1 4 2

(a) 2,3and?d only (c) 2 4 1 3

(b) 2,4and5b only | d) 3 4 1 2

(© 1 2,3 and 5 120. Under the provisions of the Industrial
Disputes  Act, 1947, right of leea

ur C{Juﬂ ¥ or

(d) 1, 3 and 4 only
ation before @ Labo

: 5 the age of an adolescent representation ; atrial
& ‘:Lmdllsf '-1:;" gliﬁnegmt;h?ﬂr ‘f-"hiﬂh arises due t0 Industrial Tribunal Or National Industria
thepahj;enm of any authentic documer;tlvi’:an‘nz ?:;MTL:;Z t:utnr}' it
i one of the 1¢ oWl +asit
mifﬁ.ﬁiua:o Qrv;h];;ﬂiﬂiﬂn der the Chlld b L) SO 2 P*:;.T:t:é j:v the forum if the
authorl (Prohibition and (c) E;:Lbcp;i\, Joes mot object & gives

rnission

if such pe

(py The Labt
(¢) The Inspé
d) The ApproP
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117, et faes gro feifsa am & ey @
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(b) A 2
() Iaﬂfﬂiﬁﬁ
(@ Fdari"E2

2

3 HIEeHE 991 $i sgaedl
4

5

9 fou 71q e H T F FE FR G :
(a) Had 2,33M 5

(b) Had 2,43 5

(¢ 1,2,33R5

(d) ad 1,33 4

ot

Hafya faare 1, st fFed i ceaEs &
31T % HRU IUH AT 8, AT I FAR HH
(i i fafiem) siffm, 1986 % o

fFefafen & & e & wfved &
% o1 ST s w2 2 ji o

(a) fafe Fefthea wiftremrd

© T s ¥ sy
@) TR TR P il

(34-D)

120.

g 1
() (erferfm)
A. Fa-(.gﬂq'-:[ g1 1. SwIEM \'}lﬁ.]ﬁ-q-q, 194
. MO 2. I WEll afufy,
; yrea-fafehcas 1948 i
C. gAiys 3. IaW=Ts G e F,
UGS (FRsH =1 faf *
qa1-9d) Sy 197,
D. HETAHT 4. I SR i
1923
Fe ¢
A B C D
(a)" 2 1 4 3
(b) 3 1 4 9
({3 jm 4 1 3
(d 3 4 1 p)

Arenfrs fEr afutem, 1947 $ yeas 3
HdA, fFet om =mem @ ot sfmo
I U SAEnfes siftee & ong ffs
‘Wmﬁﬁﬁﬁaﬂmﬁmm%mﬁmmﬁ:
(a) wifafus ifteem 3

(b) o swfy 78 & 1 T

(c) 3 37 uer amafey & e o Wl ¢
8, Al B g St & S g R

(@ AR T AT F I A
Wl Sl &t 1 R, < k& W A



